
Multiply by 10⁻³ (F)Find each product.
4,923 × 10⁻³ = 4,695 × 10⁻³ =
4,4479 × 10⁻³ = 1,641 × 10⁻³ =
9,721 × 10⁻³ = 3,3561 × 10⁻³ =
6,7 × 10⁻³ = 4,2 × 10⁻³ =
2,527 × 10⁻³ = 1,04 × 10⁻³ =
3,305 × 10⁻³ = 9,4 × 10⁻³ =
2,5671 × 10⁻³ = 3,24 × 10⁻³ =
3,9398 × 10⁻³ = 3,585 × 10⁻³ =
7,339 × 10⁻³ = 3,3591 × 10⁻³ =
4,344 × 10⁻³ = 9,387 × 10⁻³ =

Math-Drills.Com



Multiply by 10⁻³ (F) AnswersFind each product.
4,923 × 10⁻³ = 0,004923 4,695 × 10⁻³ = 0,004695
4,4479 × 10⁻³ = 0,0044479 1,641 × 10⁻³ = 0,001641
9,721 × 10⁻³ = 0,009721 3,3561 × 10⁻³ = 0,0033561
6,7 × 10⁻³ = 0,0067 4,2 × 10⁻³ = 0,0042
2,527 × 10⁻³ = 0,002527 1,04 × 10⁻³ = 0,00104
3,305 × 10⁻³ = 0,003305 9,4 × 10⁻³ = 0,0094
2,5671 × 10⁻³ = 0,0025671 3,24 × 10⁻³ = 0,00324
3,9398 × 10⁻³ = 0,0039398 3,585 × 10⁻³ = 0,003585
7,339 × 10⁻³ = 0,007339 3,3591 × 10⁻³ = 0,0033591
4,344 × 10⁻³ = 0,004344 9,387 × 10⁻³ = 0,009387
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